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The S-wave shadow zone is

~ evidence that :
(A) The outer core is liquid

(B) The outer core is composed of

iron and nickel oxides
(C) Theinner coreis solid

(D) It ie very he't near the core

The first motions of earthquake are

useful for:
(A) betermihing the location of an
earthquake
(B) Deter_mining the style of fattlting

- thatcaused an earthquake

(C) Determining the magnitude of -

an earthquake

(D) Determining the depth of an

* - earthquake

Which of the following describes the -

' bUild ,up'and‘Telease of stressduring

an earthquake ?

{(A) The mtensnty scale

e

(B) The elastic rebound theory

e

(C) The principle of superposition

(D) None of these

ER —~3A/19

(2)

Who developed the procedure
used to measure the size of an

earthquake ?

(A) Charles Richter
(B) Edward Sheridan
(C) James Hutton

(D) Art Smith

.Which ofthe foliowing measures an
earthquake s intensity based on the -

'observed effects on people and

structures ? -

(A) Rlchter scaie ‘

(B) Modlf ed Mercath scale ‘
(C) The Centigrade scale

(D) The momentmagnitudes’c;ale

WhICh of the fo!towmg statement is

correct ’?

(A) -Apparent dip is always less
'than the true dip -

(B) Apparen_t d_lp is always greatet'

tharithe true dip

(C) -Apparentdip is always equalto o o

* the true dip
(D) Truedip is always fess than the

apparent dip
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7.

In asyncline

(A) Younger rocks are in the center

(core) of the fold

(B) Older rocks are in the center

(core) of the fold

(C) Older rocks in the flank of the
fold

(D) None of these

One limb may dip upto 90 degr_ees

~whereas the other will-be nearly

horizontal, is known as :
(A) Overturned fold
(B) Recumbentfold

(C) Monoclinalfold -

D). Nc_me ofthese

In which of the following type of fold o

the attitude of the fold axis or the -

f

hinge lirie is d_'eﬁhed by two measure-

me_hts : the rbearihg‘ (strike) and its

prgject'ion (inclri_ned or horizontal) ?

(%) Plunging fold

(B) Recumbentfold

C) Mono_c]i'nal fold

(D) Overtumed fold

ER - 3A/19

10. Stereographic projections is used for

1.

solving :
(A) Apparentdip

(B) The trend and plunge of the
intersection of two planes

(C) Anglesbetweenplanes
(D) Al ofthese

The horizontal component of the dip

separation and it gives the amount

-of land shifted sideways :

" (A) Heave

12,

- 13:

() Head

(C) Throw
(D) Dip

Ifwe treat a fault as rectangular, the

dimension alohg strike is called the

. fault:

(A) - Width

(B) Length

(C) Dip
(D) Head

‘_Ho-rizbntazl slip between the adjacent
* blocks along the strike of the fault
line: |

" (A) Dip-slipfaults - -

(B) Strike-slip faults
(C}) Normal-shp faults
(D) None ofthese

{ Turn over)




14. Dip angel of reverse slip and thrust

slip faults are degree :
(A) dip <450 and dip < 450
(B) dip > 450 and dip > 450

(C) dip > 450 and dip <450

(D) dip <450 and dip > 450 18,

15, VWhat is the s‘d_rface expression
oceurs in an extensional (tension)
envifdnrf_}ent ?

e Folding/reverse fault
(B) -Bending horizontéllylsirike siip

fautt

(C) Thinning cr-ustjnqnnéel-ﬁ'i‘ault

(D) None of thege

16. The AFMAG technique utilises the

frequénc)}réngeover; S 20

(A) "30-50 KHz -
(B) 1-30KHz -
(©) 110KHz e

(D) 1Hz-1KHz

ER — 3A/19 (4)

17.

19.

The conductivity of rocks depends

on;
(A) Porosity
(B) Watersaturation

(C) The type of dissolved minerals

and salts

(D) All of these

The ideal configuration for measuring ‘

resistivity variation with depth is :
() Schiumberger

(B) - Wenner .

(C)‘ Double-dipole

(D) None of these

If AB is the current electrode

sepafatioh, the depth of investigation
for VES is ; |

~ (A) One-hirdofAB.

(B) One-sixth of AB
(C) One-half of AB

(D) None 6_fthese '

- Induced Polarisation (IP) method is

used for: | _
(A) - Land mine detection

(B) - Méssive sulphide exploration

(C) Disseminated ore body-

exploration

(D) Lenstype ore body exploration

Conid.




21.

22.

23

penetrate waterto a depth of roughly :

24.

D)y

(D)

To know the lateral variation of
resistivity, which electrode array is
ideal ?

(A)
(B)
(C) Double-dipole

Wenner

Schiumberger

None of these

Membrane polarisation in IP is a

feature of :

@

Electrode conduction
(B) Dielectric conduction
(&)

(D) ‘Noneofthese

‘Ele'ctrolyﬁ_c conduction

Very Low Frequenéy (VLF) wave can.

(&) 50t0100m .
®)

(C)

500 60 m

1010 40 m ,

10t020m |

Time ch'Jr'n;ain'; electromagnetic
system includes: '

" AFMAG
(B)
©)
(D)

SIROTEM
VLF

All of these

ER -~ 3A/19

(5)

25. There are many named survey arrays

(D)

26.

27,

that can be made using fouror fewer
electrodes. Which two rather different
arrays have the same geometric

factor ?

(A) Wennerand Schlumberger
(B) Schlumberger and Dipole-
| dipole

(C) Dipole-dipole and pale-pole

Pole-pole and Wenner -

Which type of DC resistivity survey

is most appropriate fo_r finding the
thickness of anvaq'u%fe‘r_at one
location ? |

(A) Soundings -

(B) Profiling -

(C) Three dimensional arrays

(D) Azimuthalarrays - -

Which type of DC resistivity survey

" is most suitable for finding out how

- .the;thicknesé of overburden varies.

"~ under a stretch of roadway ?

(A) Soundings .
(B) Profiing’

- {C) Threedimensiona!arrays

(D) Azimuthalarrays

(Turnover)




28.

29.

30.

31.

Which type of DC resistivity survey
-is most suitable for identifying the

' trend of subsurface fractures under

thin overburden ?
(A) Soundings
(B) Profiling

(C) Three dimensional arrays

(D) Borehole'

The acceleration due to gravity (g) is
m'axim_u‘m at:

(A) Poles

- (B) Equator
(C) Mid latitudes

(D) Sub tropical region

Size of an earthquake can be

obtained from:

(A) Richter magnitude scale

®) Mw
(C) Moment

D) Intensity

Geomagnetic secular variations

originate from :.

(A) - Innercore

~ (B) Outercore

(C) Crust

(D) Mantle

ER —3A/19

32. Earth'sshapeis:

(A) - Oblate ellipsoid
(B) Prolate ellipsoid
(C) Ellipsoid

(D) None ofthese

33. Seismic P-wave velocity becomes

maxim_um near:
| (A) _Moho_rovicic discontinuity
| (B) Conrad discontinuity
| (C) Gutenburg‘disqontinuity :

(D)' Lehman discontinuity -

34, Chandler wobble effect is_the

(6)

consequenbe of:

(A) Great earthquake

(B) - Elastic yielding of earth
(é) Atmospheric imbalance

N (D) Mdbn’s effect

35. The oldestrockinthe earthis found

~ tobein:

(A) Dée;ﬁ oceaﬁ

) (B) Highest rriountain peaks
(C) Meteorite crater |
(D) Archean shield areas

Contd.




36.

37.

38,

39,

D)

®

Plume activity is associated with :
(A)
(B)
(C)

Moho
Gutenburg discontinuity
670 Km discontinuity

D li layer

The temperature of the centre of the

40. Whichwavelength can be most useful

earth is estimated to be in degree

centigrade :
(A) Lessthan 2000

Greater than 4000
(93

(D)

4000
2000

The earth’s magnetic field is

‘maximum at:

(A) Pi_)les'

(B) Equator
(C) Mid latitudes

(D) Sub tropical region

41,

Which of the following effectdonot

~ satellite images ?

(A) Earth curvaturé_‘
®)
©
(D)

_',Ear't.h rotation
Atmospheric absorption

Sensor platform motion

ER - 3A/19

- resultgeometrical errors/distortionin

(7)

()

D)

forimaging from a sateflite in cloud-
covered conditions ?

(A)

0.4 micro meter
(B) 0.4 nano meter
1.4 micro meter

(C)
(D)

4 centimeter

' Why does vegetation Iook.green_ ?

(A) Because -vegetation absorbs
light in the green range of the
spectrum

(B) Because vegetation refiects
light for wavelengths in the
Qreén range of the §pec’trum

Because chlo;ophyl[sihas'a flat
reﬂectaﬁ.c':e curve regar_dlgss‘ of -

waveténgth

Bécauéé the eye isvs-ensit'ive to
light corresponding to wave-
Iengtﬁ inthe green rangé of thé
spectrum

(Turn over)




42.

43.

44,

~ (B)" Gamma

Visible light has wavelengths from
0.4 micro meter (purple) to 0.7 micro
meter (red). Which colour has the

highest frequency ?
(A) Blue |
(B) Green

(C) ”Pu_rple

(D) Red |

What is the name of the technique

that makes it possible to make

- surface elevation models 7

(A) Interferometric SAR
(B) ISAR

(C) Elevated SAR

i

In aremote sensed data of the earth, =
the p’resénée of hydrods_ species can |

B be inférréd using :

(A) Radiowave

I

(C) Infrared

(D) Visible light

ER - 3A/19

47,

45. Which of the following types of

48,

/48,

remote sensing would be most useful
in obtaining an accurate terrain
representation on Venus ?

(A) Microwave

(B) Radar

(C) Sonar
. (D) Landsat

Living vegetation on false colour |R

. images appear as :

(A Red

(B) Blue
(C) Green'

(©) Black

The number of spectral bands of
Landsat TM satellite datais:

A) 6

® .8

C) 9

D 7

- The smallest difference in radiance

detected by satellite sensor is called :

o (A) Spectfé[ resdiutiorj _

(B) TemporalkrésoIUtion

(8)

(C) Radiometric resolution

(D) Spatial resolution

Contd.




49.

50.

51.

52,

®

©

When nine geophones form a group,
this enhances fhe signalto noise ratio
by afactor ?

(A 21

(B) 3

(C) 18

(D) 27

Wavelet trénsform is used for:
(A)
®
©
(D)

Lowfrequency

High frequency
Intermédiatefrequenby

Low tol high 'ffequency

. simultaneously

Fourier series when terminated will -

leadto :
Stoppage  of
information

(B)

Gibbs phenome'non

(D)

None of these

leakage

Enhances signal to noise ratio .-

Window 'function is-a tool to

eliminate :

L

(A) Gibbs phenomenon

(B) Single frequency

ER-3A/19

53.

o4.

65,

(9)

(C)

Infinite frequency

(D) Noneofthese

Concept of sequence is used in

which transform ?
(A) Hankeltransform
(B)
(©)

®

Walsh fransform

Hilbert transform

Har transform
Skin depth is inversely proportional
to the square root of the :
(A) Resistivity

(B) + Frequency

(C) Amplitude

(D) Phase

The region of ‘initiation of seismic

energy withinthe Earth is called:

(A) Epicentfé
(B)
(C)

Hypocent(e |

Area o'f_lgr"eatest' building
damage _
- Area of least bujldirig damage

(0)

{Turn over)




56. Earthquakes are produced during :
(A) Plastic failure within the mantle
(B) Brittle failure during faulting
(C) Mushrooming during faulting

(D) Noneofthese

57. Seismic waves are waves of energy

that .
(A) Plastically distort the ﬁaterial
L that they pass through |
(B)z- Perman‘entiy dist-ort_'.the
matorial that they pass through
(C) Break the material that they
7 paés thro.ugh
(D) Elastically distoft ;ﬁé"materiai
o tﬁat.ihey pass through .l
58, As >rupfure along a fault mlttates

_waves of energy travel outward from

, the hypocentreina:
") Linearfashion
(B) As.traigh,t.!iné path
(C) Aspherical fashion
| (™ ane of these

ER — 3A/19 | (10)

60

- 61,

Body waves emanate spherically

from the focus traveliing :

(A)

(B)
(€)

(D)

Entirely within the interior of the
earth

Along the surface of the earth
Within the world's oceans

Into space dude

P-wave produce series of ;

A

(B)

A ©

(D)

Shearing motions that are right

‘anglestothe d;rectlon of wave

propagatlon _
Contraction and ,expansfons
thatare in the direction of wave
propagatlon

Circular motlons ||ke ocean

wave

Snake_'—!ik_é motions paraltel to

*_the Earth's surface

S-waves pfoduce a series of :

®

| (C)' ,

iCo'ntrlactioris and expansions. T
‘thatare in the direction of wave
~ propagation |

'V'Snake-flke motlons para]!el to :

the_Ealth’s sﬂurface ,

Circular motions like an ocedn

wave

D)

Shearmg miotions that are right | ‘

angles to the direction of wave

propagation

Contd.




62. Rayleigh waves move along the (C) Light
surface of the Earth forming a wave (D) Great

that is much like :
65. On global scale, on average, over

(A} A skier moving down a
900,000 earthquakes a year occur

mountain hill
‘with magnitudes below :
(B) Acartravelling through the sand
— (A) 60
dunes
- - (B) -7.0
(C) Anoceanwave
B ‘ (C) 25
(D) A whale gliding along the
/ (@) 4.0

ocean's surface

_ . 66. Great earthquakes, on average,
63. A seismograph is a device used to '
: ' ' oceur:

(A) Soundanalarm . .
o (A) 500 times annually
(B) Prevent eqathquakes from . L :
o S (B) 100times annually

.. oceurring o L

: ' : (C) 20timesannually
(C) Recotd the  ‘vibrations

'produk;ed during an earthquake " (D) ' .O,nce every Sto 10 years

(D) Calm the seismologist durfng 7. Mercalli indices of VI or-lower

anearthquake - - S measure -the effects of _ah
64, Which of the following classes carthquake on:
répr-ésen‘t earthquél_(e_s with (A) DOQS“‘
magnitudesbetween4and497 -~ . - (B) Horses
(A) Moderate | (C) People
(B) Strong | (D) Buildings

ER—3A/19 (1) (Turn over)




68.

B69.

70.

- 71

Mercalli indices of VIl or higher
measure the effects of an

earthquake on :

{A) Cows |

(B) Horses

(C) People

(D) Buidings

What type of forces dominant at
convergent plate margins ?

(A) Tene’;ional. forceé '

(B) Shearing forces

(C) Compressive forces

(D)} None ofthese

The two sides of afold are call.c’ed :

A Anticli_neé

(B) Synclines

(C) Limbs

(D) Axial planes

At divergent plate boundaries, one
would expect to find ; '

(A) Fo!dé. '

- (B) Fauts .

(C) Fb!ds and faults

(D) Neitherfolds nor faulls

ER - 3A/19

72.

73.

- 74,

75.

Abroad circular or oval upward bulge

of rock Eéyers is called :
(A) Anticline

(B) Sync]ine A

(C) Bésin

(D) Dome

The Red Sea is an example of :

(A) Anticline

(B) Strike-slip fault basin
'(C) Rift valley

(D) Horst bioék mountain

The primary result of earthquakes is :
' . o

(A) Building and bridge collapsed
(B) Rapture of water and gas

. piplelines

(C) Change in course of river and e

. creation of new islands

(D) Allofthese

What is the major consequence of -
* Tropical Cyclones ? -
(&) Fierce wind

| (B) Hea\fy rain . .

(C) Stormsurge

(D) Allof these

Contd.




76.

77.

- 78.

79.

The major man made causes of

floods are :

(A) Deforestation
(B) Siltation

(C) - Bursting of dam

(D) Aliofthese

Mass killing diseases can be

referredas :
(A) Biological disaster

(B) Industrial disaster

(C) Wardisaster

(D) Flooc-i‘

A point on the surface of the earth

. vertically above the focus is known

as:

(A) Epicenter

- (B) Hypocénter

(C) | Spéc‘ial focus

(D) Noneofthese

Which instrument is used. for
' recording.the occurrences of t_ﬁe- a

~ earthquake ?.

"{(A) Richter Scale

(B) Seismology

ER -3A/M18

80.

81.

82.

(C) Seismograph

(D) None of these

Which area in the world witnesses

highest seismic earthquake activity ?
(A) Mid-continental belt

(B) Circum Pacific belt

© Mid-Atlantic belt |

(D) Allofthese

What type of disaster is most

prominent in India ?

 (A) Flood
(B) Ijtaught

(C) - Cyclone

(D) Earthquake
Which i)blcanic eruption is reponsible

for raising temperature of the

- Northern Hemisphere by 1.2°C 2

() Bhyj
(B) Etna. =
(C) Krakatoa

(D) Mt Pinatubo

{Turnover)




-83.

84.

85.

Which is the major controlling
system for reduction of volcanic
disaster ?

(A) Prrediction for early warning of

eruption

(B) Timely evolution and relief work -

(C) Both (A) and ®B)

. (D) None o_fthesé

Which technique is used for

prediction of early war‘riing of

" eruption ?

(A) Electric Distance Measures |

(B) il Meters

(C) GPS and Satellité”Inferring

' Rader

(D) Allofthese

Shallow earthqﬁakés}, less than

20 km deep, dre associated with :

(A) Convergent plate boundaries -

(B) Divergent p_léte boundaries

" (C) Transform platéBoundaries

(D) Allofthese

ER - 3A/19

86.

87

88.

Which of the following disasters can .
be triggered by an earhquake ?
(A) Tsunami

(B) Intense ground shaking
(C) Alandslide

(D)} Allofthese

-

Which of the following statments is

false 7

(A) Earthquakes occur in plate

boundaries., .

(B) Thetime and location of most
rﬁajOr earthquakes can be
p_redictt_ad éeVeral days in

‘advance. o

(C) Earthquakes can be cadsed by -

' nor:mal, rev_er_se. a‘nd_strike;sfip

fdulting.

. (D) -P-wavestrave!fasterthan both.

- S-waves and Surface waves.
Volcanic eruptions are closely

associated with :

{A) Mountain. building and

fracturing

' '(B) Deforestation

(C) Landslides
(D) Heatbudget

Contd.




89. Tropical cyclones originate within : 93.

(A) Intermediate- between polar

and temperate zones

(B) Mainly tropical area
- (C)
(D)

Mainly equatorial zones

Intermediate between Tropics

of Capricorn and Cancer

' 90. The cenfre of the cyclone is

characterized by :
(A) High Pressure
- (B) LowPressure
(C) VeryHigh Pressﬁre
(D) Allofthese
: 9_1; Example of anthropogenic hazards
.are:v ' o
’ .(A) Chemicalexp!osféh o
B Earthquake |
(C) . |
0) widfre - o6

Flood

92 The cyf:_lohe that hit‘_Od}sha‘on'
October 29, 1999 is &in example of ;
7 (A) Supercyclone
(BS ‘ _-S{ilent cy‘cloﬁe'
(©)
(D) None of these

Cyclone storm

ER - 3A/19 (15)

94.

95.

The humén factors which cause

floods are ;
(A)
(B)
(C)
0y

Deforestation
Heavy rainfall
Cioud burst

Large catchment area

The Bhopal Gas Tragedy is an

example of:

- (A) Industrial disasters

- (B), Naturaldisasters

(C) Nucleardisasters

)

None of thése

Cyclones in the Caribbean Islands

areknownas: .

BRGY _Typhoon

| '(B) ‘Hurricanes

- (C) - Tornadoes

: __'(D)T Storm

. Disasterat Cherriobyl (USSR), Thiee

" Mile Island (USA) and Fukusima
(JAPAN)areallrelatedto:
" (A) Disastercaused by earthquakes

- (B)_ Disastercauéed‘byfsunami

(C) Nucleardisaster
(D): Epidemic disaster

(Turn over)




97.

98,

e

99.

A

Mount Kilimanjaro is the best

example of ;
(A)
(B)
(©)
(D)

Active volcano
Dormant volcano
Extinct volcano

None of these

The river which causes tremendous

floods in Assam is :
Gaﬁga o
(B)
(©)

Brahmaputra
Godavari |

Barak

Which of the following leads to

“earthquakes ?

— (A)- Movement of platééiae;_.,r.,

. (B) Nuclearexplosion

100,

ER -

(C) Extraction of mi.nerals-

(D) Allofthese

In the eye of the,cyc'lo.n'é,: the

temperature s :

(A) Highest

(B) Lowest

(CY Normal

(D) A\)erage

3A/19

(16)

101.

102.

103.

104.

®)

Disaster Management includes :
(A)
(B)
(C)
(D)

Mitigation
Reconstruction
Rehabilitation

All of these

Andhra Pradesh was severely

battered by a cyclonic storm which

killed more than 10,000 lives on :
® |
(B)
(©)
©)

15.11.1977
15. 11. 1971
15.11. 1963
15. 11. 1945

How 'many of 35 Indian States.and

Union Territories are disaster

_ prone ?

(A) 23
25
C) 12

0) 27

National Institute " of Disaster

‘ Mana'geme_nt isat:

(A) Manipur
(B)
(C)

(D)

Punjab
Hyderabad

New Delhi

Contd.




105.

The term ‘disaster’ is derived from

which of the fo[lowihg language ?
(A) Greek
(B) Latin

(C) French

- (D) Arabic

106.

- ®

107.

Earthquakes and Tsunamis

constitute disaster percentage :
(A} - 8%
4%
C) 6%

(D) 17%

- madein:

: (D)'

108,

2006
2003
(C) 2005

2009

- 109. A series of earthquakes shook the

The Disaster ManagementActwas |

Indian National Tsunami Warning

_ System became operationalin :

w

- (©
©)

ER -

2003
(B) 2007
2009

2012

3AM9

110.

111.

@

(D) -

Central American Nation of
Nicaragua and killed many people in

theyear:

A) 1974
B) 1972.
(C) 1973

(D) 1975.

In which year a cyclone struck the

Coastal Andhra in Krishna-Godavari

delta and caused havoc ?

1976
(B) 1979
(C) 1978

1977

Area-of Indian coastline which ‘s

. vulnerable to storm surges, cyclones

‘and Tsunami s ;

(A) 5700km

(B) 3700km

(C) 2700 km

{D)} 4700km

(Turn over)




112. The date when the super cyclone hit

113.

the Orissa coast which killed nearly

10,000 pepole and affected over 15

million people across 12 districts of

Orissais :
(A) 29.08. 1999
(B) 29.08, 1997

(C) 29.08.1998

(D) 29.08.1996

According to the World Bank, during
the period 1996 to 2000, the

- approximate percentage loss of

(D) 1.95% - -

114,

‘ ‘Managé_rr_lentfwas approved by the

(©) 2.50%

-gross domestic produce due to

disasters was:
(A) | 2.85%
(B) 2.25%

_The_,Nat_ibnaI Policy on Disaster

o Uhioh-Cabinet in :

(A) 2008

| '(B) 2009 -

- (C) 2007

ER -

(D) 2010

3AMS

{18)

115. The Chairman of the National

116.

Disaster Management Authority is :
(A) Home Minister
(B) Vice President

(C) Minister, Human Resource

Development

(D) Prime Minister’

What percent of eaﬂ.hquarkes and
tsuanamis account for world

disasters ?

(A 8%

17

(B) 3%

) 9%

D) 7%

Which natural hazard has caused the o

greatest number of deaths in asingle

- ‘event?

AV Earthquakes‘ '

(B) Floods

{C) Volcaniceruptions‘and related

 disasters
(D) Hurricanes

Confd.
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118.

119,

- 120.

Earthquakes that occur along faults
are created when :
(A) Melted rock is erupted along

the fault zone
(B) Stress builds up until rocks
break
(C) The earth shifts and niéves
along ffac;ture

(D) (B)and (C)

Tsunamiis: ‘
(A) Earthquake on land mass
(B) Volcaniceruption

(C.) _ Earthqu'aké in ocean crust

. (D) None of these

Me’tg'nitud.e-bir earthquake indicates
amohnt of |

A) Vibrét_ioné per second

- (B) Vibrations per minute -

~ (C) -Oscillations

121.

ER -

(D) | AEnergyreIeased )

From whé‘re-éa'rthquéké waves éfe
theriate\d?_ e

(A)
(B)
(C)-
(D)
3A19

.Focus
~Epicenter
Solid inner core

None of these

(19)

122.

123.

Earthquakes occur most frequently
at:
(A)
(B)
(C)
()

Plate surface
Plate boundaries
Plate vacuum
Ocean beds .

Which of the following waves is the

slowest ?

(A)  P-waves

(B) - S-waves

(C) .'Surface waves

' VV(D) Tsunami

124,

©
o

125.

(C)

In India, highest percentage of

démag_es causes by flood hazards : :

A
(B)

l_Jttar.Prade-sh
Bihar
West Bengét '
Tn'pﬂr_a |

Tsunami -in the Indian Ocean

“occurred inthe year:

(A) 2003
(B) 2004
2005
(D) 2006

{ Turn over )




126.

127.

The flood caused in Uttarakhand due

tfo:

(A) Cloud burst

(B) Landslide

(C) Earthquake
(D) None ofthese -

The magnitude of energyreleased by -

an earthquake is u’sda!ly measured
on Richter scale which ranges

between:
(A) Oto7
(B) Oto8

. (C) Oto9

128.

RS

: (C)"_‘
R @)

(D) Oto12

Which zone is oonsidéred the highest

‘vulnerability zone of the seismic

zonation map of £ndfa ?
“Zone—1V |
B) Zone-V
Zone il

Zone—Il

. 129. The sudden release of hot materials

. (lava, ash, gas etc.) from volcanoes

-~ is called :

ER -

(A) Volcanicerupﬁgﬁ

(B) Ashshowers

3A/M19

(20)

130.

131.

(Dj

132.

(C) Pyroclastic flows

(D) Hotmud flows

Which volcanic belt is commonly

called “Ring of Fire” ?
(A) - The Mid-Continental Belt
(B)
(€)

(D)

The Circum-Pacific Beit
The Mid-Atlantic Belt

The Circum-Continental Belt

The Indian Tsunami Early Warning

Centré‘(lTEWC) estab‘lished at

Indian National Centre for Ocean

Information Sc;ences is Iocateh in:

(A) | Chennai
(B)
(C)

Goa.
Kochi

Hyderabad

‘Ground roll in seismic exploration is B

~ atypeof: e

" (A) Converted P-wave

| )

P-wave
Rayleigh wave
l.ove wave

©)

Contd.



133,

134.

The correctional process which

corrects non-vertical reflection in

seismic .

(A) Migration

(B) Cross-correlation
© |
(D)

Convolution

Filtering

Ghost is a special type of multiple

. where the phase shift takes place

135,

(D)

136.

ER -

with respect to primary as :

(A) 90 degrees

(B) 180 degrees

(C) 270 degrees

(D) 360 degrees

Bright_spofs are direct indicators of ; -

A) O
(B)
©

Gas
Water
None of theé_e '

Geophopé is no_r_rhél[y used in oillgas

exploration as sensor. It works onthe -

principle of : .
(A) Faraday's EM induction

(B) Lenz'slaw

- 3A/19

137.

(C) Ohm'sLaw
(D) | None of these
Geophone is a type of seismometer

where electro motive force directly

proportional to

_ (A) Displacement

138.

139,

(D)

(B) Acceleration
(C) Velocity
(D) Noneofthese

The purpose of using tuned air gun

arrayto:

(A) Minimise bubble effect

(B) Minimise ghost

(C) Minimise water bottom
| multiples

Minimise biibble sffect and
enhancement of primary pulse -
The dyhémic range of ﬁon-distribyted
digité[ seismic recordér is.: ‘

(A) 80db

(B) 84db

(C) 96db

(D) Noneofthese

(Turn over }




140.

Aliasing is a problem in signal
processing. In order to avoid the
aliasing problem in seismic data
processing one hasto use:

(A) Low-pass filter
(B) High-pass filter

(C) Band-pass filter

141.

142.

143,

ER -

(D)

Band-reject filter

Fan shooting is usually applied to
detect concealed geological

structures in oil/gas exploration for:

(A) Saltdome -

(B) Fault

(C) Syncline
(D) Un'confbrmity

Hydrophone is a transd‘ﬂgg_r of type

based on:

(A) Pressure

| (B'): : Eiectro_—mebhanical _
©
e

Magnetostrictioh

None ofthese

In 3D seismic survey, if the inl-ine and
crossline :‘fo[_d's—_ are 3-and 4

respectiviey, then fh_g;ﬂ__totall CMP fold

of 3D survey is :

(A 4.

3A/19

: 146.,

(22)

144,

B) 6
) 12

) 7

The daily variations is geomagnetic

~ fieldis:

(A) 10nanotesia

(B) 20nanotesla

- (C) 30nanotesla

(D) 40nanotesla

145.

constants are .

In transversely isotropic medium in

" seismic, the number of elastic

RN

A 10

- (B) 12

© 4

O 5

Inseam wave or channel wave is .

- applied for the explofation of

(A) Oillgas

(B) Water.

(C) Coal
(D) Base mctals

Contd.




147. Ground roll in seismic can be

(©)
(D)

148.

- (©)

ER-

D)

attenuated by :
(A) Grouping of geophones
(B) Bunching of geophones
Mixirg of geophones

None of these

Auto-correlation in predictive

deconvolution provides the

parameters ;

A
(B)

. Prediction distance
Operator diétance
Qperator'féngth and predictive
distance

N@ne ofthese

149.

150.

@

The geophones are usually damped.

They are either :
(A) Over-damped

(B} Under-damped

- (C) Critically damped

(D) Under-damped as well as '
critic_él!y damped

The s_ﬁadow zone for direct P-wave
lies between the epicentral
di‘stancgs :V |
104 to 140 degrees_ -

(B)
(C)
(D)

13 to 14 degrees
83 to 103 degrees

14310 180 degrees

3A/MG

(23)
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